

## Ajouter des fractions mixtes négatives (B)

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque somme.

1.  $\left(-2\frac{3}{11}\right) + 4\frac{1}{6} =$

2.  $\left(-1\frac{5}{6}\right) + \left(-3\frac{7}{11}\right) =$

3.  $\left(-4\frac{2}{3}\right) + 5\frac{2}{5} =$

4.  $\left(-1\frac{3}{7}\right) + \left(-3\frac{1}{3}\right) =$

5.  $\left(-3\frac{1}{4}\right) + 5\frac{9}{11} =$

6.  $\left(-1\frac{2}{9}\right) + \left(-1\frac{3}{5}\right) =$

7.  $\left(-4\frac{1}{9}\right) + 3\frac{7}{10} =$

8.  $\left(-2\frac{9}{11}\right) + \left(-3\frac{9}{10}\right) =$

9.  $\left(-1\frac{2}{5}\right) + \left(-1\frac{8}{9}\right) =$

10.  $\left(-1\frac{1}{10}\right) + \frac{5}{9} =$

## Ajouter des fractions mixtes négatives (B) Réponses

Nom: \_\_\_\_\_

Date: \_\_\_\_\_

Note: \_\_\_\_\_

Calculez chaque somme.

$$1. \quad \left(-2\frac{3}{11}\right) + 4\frac{1}{6} = \left(-\frac{25}{11}\right) + \frac{25}{6} = \left(-\frac{150}{66}\right) + \frac{275}{66} = \frac{125}{66} = 1\frac{59}{66}$$

$$2. \quad \left(-1\frac{5}{6}\right) + \left(-3\frac{7}{11}\right) = \left(-\frac{11}{6}\right) + \left(-\frac{40}{11}\right) = \left(-\frac{121}{66}\right) + \left(-\frac{240}{66}\right) = \left(-\frac{361}{66}\right) = \left(-5\frac{31}{66}\right)$$

$$3. \quad \left(-4\frac{2}{3}\right) + 5\frac{2}{5} = \left(-\frac{14}{3}\right) + \frac{27}{5} = \left(-\frac{70}{15}\right) + \frac{81}{15} = \frac{11}{15}$$

$$4. \quad \left(-1\frac{3}{7}\right) + \left(-3\frac{1}{3}\right) = \left(-\frac{10}{7}\right) + \left(-\frac{10}{3}\right) = \left(-\frac{30}{21}\right) + \left(-\frac{70}{21}\right) = \left(-\frac{100}{21}\right) = \left(-4\frac{16}{21}\right)$$

$$5. \quad \left(-3\frac{1}{4}\right) + 5\frac{9}{11} = \left(-\frac{13}{4}\right) + \frac{64}{11} = \left(-\frac{143}{44}\right) + \frac{256}{44} = \frac{113}{44} = 2\frac{25}{44}$$

$$6. \quad \left(-1\frac{2}{9}\right) + \left(-1\frac{3}{5}\right) = \left(-\frac{11}{9}\right) + \left(-\frac{8}{5}\right) = \left(-\frac{55}{45}\right) + \left(-\frac{72}{45}\right) = \left(-\frac{127}{45}\right) = \left(-2\frac{37}{45}\right)$$

$$7. \quad \left(-4\frac{1}{9}\right) + 3\frac{7}{10} = \left(-\frac{37}{9}\right) + \frac{37}{10} = \left(-\frac{370}{90}\right) + \frac{333}{90} = \left(-\frac{37}{90}\right)$$

$$8. \quad \left(-2\frac{9}{11}\right) + \left(-3\frac{9}{10}\right) = \left(-\frac{31}{11}\right) + \left(-\frac{39}{10}\right) = \left(-\frac{310}{110}\right) + \left(-\frac{429}{110}\right) = \left(-\frac{739}{110}\right) = \left(-6\frac{79}{110}\right)$$

$$9. \quad \left(-1\frac{2}{5}\right) + \left(-1\frac{8}{9}\right) = \left(-\frac{7}{5}\right) + \left(-\frac{17}{9}\right) = \left(-\frac{63}{45}\right) + \left(-\frac{85}{45}\right) = \left(-\frac{148}{45}\right) = \left(-3\frac{13}{45}\right)$$

$$10. \quad \left(-1\frac{1}{10}\right) + \frac{5}{9} = \left(-\frac{11}{10}\right) + \frac{5}{9} = \left(-\frac{99}{90}\right) + \frac{50}{90} = \left(-\frac{49}{90}\right)$$